=LPDB

*UXSD 5R]N&DG

)0

66 3 7\J

GSHFI QDXF] 8FIHE TH
VSHFIDIQ\PL SRIIT HGXN Z
VAVI RGZIDI\ GU = XGD

= IRHHID =DICFLD RQ UIQH

7\6]

)$0 / 1-%
)30 - (0o
(0o G
0o €
% :)O0 z )0
= - 8&.81%0
a 86 8&.8130 86
=
% N
]
o
% 6SHFI QDXF] 8F]HE TH
VSHFIDIQ\PL SRIL] HGXN Z
VAVI RGZIDI\ GU *XGD
= RIHID =DICFID RQ IlQH
)$0 7/ 1-%
)30 = (0o
(0o €
o] [€Xel
)0 z :)O0
- 8&.81%0
86 8&.81$0 86
7\ 7\
= \FKRZDQIH IJ\F]QH L
% DLIIRIRILD L EIRFKHPLD VSRUI Z UHVRFIDI] DFiL
=] VSRUIX Z SURI GUKDE Z PJU%REUD -DFHN =D
x 3LV = [HViDZ =DICFLD RQ ICFKDRQUQH =) O
N 1lQH )0 - -
= INJ ]DICFLD WZDig
PLQ
N
N
*DJQRVIAND JGRIQRGFL
Z\VINRZ\FK FJ4RZIHND 6SHFIDI]DF
Z SURI /DQJIRUI -y]HI ID
=DICFDRQUQH =) O LQVIUXNIRUVN
) z D
Q ZN\J  IDICFD NZDig SAZDQH F
x PLQ Z PN
I - XEHUVNL
oDUXV] 6
3 7\
=DICFLD RQ
IQH 7\J
:)
O 663
7\ 7N\
- 6SHFIDIL]DFID LQVIUXNIRUND
T 6SHFIDIL]DFID SI\ZDQIH FZ PJU . XEHUNL ODUXV] 6
5 LQVIUXNIRUND 3 7\ =DICFLD RQ (LQH
[a) SINZDQIH Z PJU 7N )0 663
N - XEHUNL ODULXV] =DICFL
i

DRQIUQH =)0 =

- INJ  ]DICFID WZDig
PLQ




*UXSD 5R]N&DG

=LPDB
-)O

66 3 7\J

P 7\J

% 6SHFIDI]DFID Z VSRUFIH  IHQV Z GU
Q = RINQD -DQXV] =DICFLD RQ (LQH =)
n o z

[a g

©




